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ROFHEZ L7 3w,

(1) 2a(3a — 5b)
= 2a X 3a — 2a X bb
= 6a”® — 10ab

(2) (x —2y +5) x (—3z)

=1z %X (=3z) — 2y x (—3z) + 5 x (—3x)

= —32”% + 6wy — 152

(3) 2e(x+3)+x(2—1x)
=222 4 62 + 22 — 2
=22 + 8

(4) (4zy® + 62%y) + 2z

1
A 2
= (dzy +6xy)><2x

- 4zy? 622y
2 2z
= 2y* + 32y

(5) (4a* + ab) + %a

2
= (4a® + ab) x =

a
74a2><2 ab x 2

a a
=8a+ 2b

ROXZREFL 2 S0,
(1) (x+3)(y +5)

=zy+5r+3y+15

2 (a+7)(b—-2)
=ab—2a+7a—14

3  (Bx+2)(z—4)
=322 — 122+ 22 — 8
=322 - 10z -8

4)  (a+3)(a+2b—4)
=a(la+2b—4)+3(a+2b—4)
=a® 4 2ab — 4a + 3a + 6b — 12
=a%+2ab—a+6b—12

|

3. ROAXZER L %2 3\,

1) (@+2)(z+7)
=22+ 24+ Nr+2x7
= 2?4+ 9z + 14

2 (@+3)(z—4)
=(x+3){z+ (-4}
=22+ {3+ (—4)}r + 3 x (—4)

=2 -z —12

(3) (z +3)?
=224+ 2x3xz+3
=224+ 62+9

(4)  (x—8)?

=22 - 2x8xx+ 8
=22 — 16z + 64

(5) (x+6)(xz —6)
— 222

=22 —36

(6) (22 — 3y)?
= (27)? — 2 x 3y x 2z + (3y)*
= 42? — 12xy + 9y?

(M a+b=X &L L
(a+b—2)(a+b+2)

= (X -2)(X+2)
=X2-4
=(a+b)?—4

=a?>+2ab+b*—4

(8)  2(x+5)?2—(x+3)(z—3)
=2(2? 4+ 10z + 25) — (2 — 9)
=22% 4 202 + 50 — 22 + 9
= 2?2 4+ 20z + 59



4. ROXZ KB L 22 30,

(1)

(2)

(3)

(4)

(5)

(6)

(7)

(8)

ma + mb + me

=m(a+b+c)

2 + 2zy
— a(a+2y)

3ax — 6ay
= 3a(z — 2y)

4ab + 2a
=2a(2b+1)

22 4+52+6
= (z+2)(z+3)

> 4+x—6
=(x—2)(z+3)

2% 4+ 10z + 25
=22 +2x5xx+52
=(z+5)?

2 —25
:1,2_52

= (z+5)(z—5)

9) 222 + 4z — 16
=2(x% + 22 — 8)
=2(x—2)(z+4)

(10)  42* +4x+1
=(22)2 +2x 1 x 2z + 12
= (2z +1)?

(11) 9z — 4y
= (32)? — (29)
= (3z + 2y)(3z — 2y)

(12) a+y=ALtEBL
a(x +y) —b(z +y)
=aA —bA
=(a—0)A

= (a=b)(z+y)

(13) z+y=A B L
(z+y)>+3(x+y)+2
= A’ +3A+2
= (A+1)(A+2)
=@+y+(z+y+2)



